gboooog22013tbmoogoooooag2013b 080 010 O

oooo oo 000
I. 0 Backus-Naur 0 [0 [ (3x4)
(1) 2 3) )
S S S
VARERN / I\ VARERN
s S o+ S S * s S o+
/1N N\ 71 IN /S /1 N\
s s * x S S + 85 S * x S S +
\ \ [ | S/ 1N
X X X X X X X S S *
\ \
X X
IL.O0O0000 (3x4)
(1) N ) 3) R 4) B
. 000000000000 (3x4)
(1) B ) 3) A @) B
Iv.0oooooooao (2X5)
(1) < ) 3) < @ | X G| X
v.Oooooooooo (4,4,4,6,6)
L— CL
(D
LI—> cc;”CL/
| €

@)

{ begin, stmt

3)

{ end

goooooon


kagawa
テキストボックス
解答例


VI

begin end stmt ; $
@ | C—- I X II X X
L— crL X cr X X
L — X g X R O X
void C(void) {
if (token == BEGIN) { /* 1 O0OOQQOQOL */
%) eat(BEGIN); L(); eat(END);
} else if (token == STMT) {
eat(STMT);
} else reportError();
}
void L(void) { /* + OOOOOOL */
if (token == BEGIN || token == STMT) {
CO; L10O;
} else reportError();
}
void Li(void) { /* + DOOOODOL */
if (token == ’;’) {
eat(’;’); CO; L1O;
} else if (token == END) {
/* do nothing */
} else reportError();
}
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